olo
ol
1
1
=

A1 (7] 2 HEHO) =2|etal 2021160106 ‘X[ 0]

+v1 | install_spinw.m | untitled3 * | question1_basic_operator.m [ + |

>> 12*3

ans =

36

>> 36/3

ans =

12




2. TA ALK}

+v1 | install_spinw.m | untitled3 * | question1_basic_operator.m [ + |

- - -

E—:!'.'
> x=[123451];,y=[543211]:
>> %<y

>> x<=y
4ans =

1x5 logical H{Y

>> x==y
ans =

1x5 logical HiY

>> x>=y
ans =

1x5 logical H{<

>> ®Z>Y
ans =

1x5 logical HiY




3. =c|HLkA}

>> a=bh;

>> b=20;

>>1f (a & b))
disp( 1)

end

>> a=bh;

>> b=20;

>>if (a |l b)
disp( 1)

end

>> a=1;

>> b=0;

>>if (a |l b)
disp( 1)

end




M2z 72 &

1. for &
»>» for %x=0:2:10

a=2"x

end

a =
1

a =
4

a =
16

a =
6d

a =
256

a =

1024




2. if else &

>> a=3;
>> if a<l
b=a+l
else
c=a+2

end

3. while &

>> a=1;

>> while a<4
a=a+l

end



4. clear, clc, clf

MojEE

>> a=1; b=2, c=3;

r

b =
2
= AL
HHEE 9%
>> plot( x , v, '—-—-rs' 'LineWidth' , 2 , 'MarkerEdgeColor'
'MarkerSize', 10)
fx>> |
T Figure 1
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inline

>> £ = inline('x"3+6*x-2" , 'x');:
>> f£(3)
ans =
43
>> f = inline('x."3+6%x-2"'" , 'x');

>> f([ 345 1])
ans =

43 86 153

Linspace

>> ®x = linspace( 0, 5 , ©)



Plot

>>» x=linspace(0,7,20);
>> plot(x,sin(x), 'k—-"',%x,cos(x), "ko'")

fx>> |

i-, Figure 1
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(@) ZEAI} defaultdl FL

>> t=linspace (0, 2*pi,100); x=2*cos(t); y=2*sin|(t):

>> plot(x,vy)
S>> |
|
« Figure 1 — O X
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(b) ZtEA|7tsquare! L

>>» t=linspace (0, 2%*pi,100); x=2*cos(t); y=2*sin(t):
>> plot(x,vy); axis square;

S>> |
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(€ EEHt equal®l AL

>> t=linspace (0, 2*pi,100); =x=2*cos(t); y=2*sin(t);
>> plot(x,y): axis equal:;

Jx>>
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(d) ZtEA7} image?! E$

>> t=linspace (0, 2%*pi,100); x=2*cos(t); y=2*sin(t):
>> plot(x,y): axis image:
Jx >>
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ones

>> ones(3)

ans =
1 1 1
1 1 1
1 1 1
zZeros

>> zeros (2)

length

>> C=[1 2 3];length(C)

dans =



sum

>> BA=[1 2 3;4 5 6; T 8 9];
>> sum(A)

ans =

12 15 18

abs

>> abs(-3)

ans =

3

fprintf

>> fp = fopen('test.m','w'); S%test.m= U2 E MIESZ MA
>> fprintf (fp, '%d %d\n', 1, 2): % W20 1 2 MJ]

>> fprintf (fp, 'sf %f\n', 3.5, 4.5); % W20 3.5 4.5 27|
>> fprintf (fp, '%e %e\n', 100, 1000); % W20 100 1000 A0

>> fclose(fp): % U2 close

) B727] - CiUsersiUseriDocumentsMATLABWExamples#R2022bimatlabiPickOddElementsfromNumericMatrixExamplettest m
' install spinwm ¥ testm | +
1 12
2 3.500000 4500000
3 1.000000e+02 1,000000e+03
4




load

>> a = load('test.m'):
>> a

1.0e+03 *
0.0010 0.0020

0.0035 0.0045
0.1000 1.0000

rand() &
>> Random matrix = rand(Z2, 3)
Random matrix =

0.8147 0.1270 0.6324
0.9058 0.9134 0.0975

>> rand ('seed', 3)
>> rand (2, 3)

ans =

0.5387 0.0512 0.3010
0.3815 0.2851 0.1277



